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It is mandatory to fill one option for each question.

. All questions carry equal marks.

Only one answer is to be given for each question. IT more than

one answers are marked, it would be treated as wrong answer,

The OMR Answer Sheet is inside this Question Booklet. When you

are directed 1o open the Question Booklet, take out the Answer Sheet

and fill in the particulars carefully with Blue Ball Paint Pen only.

3, Please correatly fill your Roll Number in OMR Answer Sheat,
Candidate will themself be responsible for filling wrong Roll No.

6. 143 part of the markis) of ench question will be deducted
for each wrong answer. A wiong answer means an incorrect
answer or more than one answers for any question,

7. Each question has five options marked as 1, 2, 3, 4, 5, You
have to darken only one circle (bubble) indicating the
cormect mswer ou the Answer Sheet using BLUE BALL POINT PEN,

8. If you are noi attempting o question then you have to darken
the circle *S', If none of the five circles is darkened,
one third (1/3) part of the marks of question shall be deducted.

9.% After solving question paper, candidate must ascertsin
that he/she has darkened one of the elreles (bubbles) for
ench of the questions. Extra time of 10 minutes beyond
scheduled time, is provided Tor this,

10, A candidate who bas not darkened any of the five circles
in more than 10% questions, shall be disqualified,

L1 If there is any sort of ambiguity/mistake either of printing or
fiactual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

12. Maobile Phone or any other electronic gadget in the examination
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[PtC1,)% H wufufa o 7 o1 #

(1) C, @ C;

(3 C, (4) Cq

(5) eI

Wﬁﬁﬁﬁ,ﬁmﬁﬂﬁ,udﬁﬁ

v ¢

(1) mmmz@im‘iﬁtaﬁ%
HEETAC R £ |

(2) T FEW a6 g FEW T F
Geeokinie d

(3) UH C, I\ T q FeAaL ael H#=
& o 1 g T R L

(@) T FEhT TR C, e B
i ) T w10

(5) Frwifee S 3

waTerE wgE IIeH F R

(1) @med & Faa

(2) =g &

(3) fafrma s Pams

(4) Tl % IeqTE H

(5) I A

XeOF, # g a2

(' Gy @) Oy

(3) Dy (4) C,

(5) e

The principal axis of symmetry in
[PtCl,)* is

(1) G, 2) Gy

3 C, (4) Cg

(5) Question not attempted

In group theory, a dihedral plane, g

is referring as :
(1) A vertical plane is parallel to
another vertical plane.

2 A vertical plane is
perpendicular to  another
vertical plane.

(8) A C,axis that bisects the angle

between the two vertical
planes.
A vertical plane that bisects

the angle between the two C,

(4)

axes.
(5) Question not attempted

Abelian group obey :
(1)
(2
(3)
(4)
(5)

Law of association
Law of Inverse

Law of commutation
Product of elements

Question not attempted

The point group in XeOF, is :

) Cy 2 Cy
(3) Dy 4 C
(5) Question not attempted



5. NH; % forq =vi ot 3@ gemafist | 6. The character table for NH, is given
wfaifer & a9 & o 8 | srgemie below along with that reducible
Forequr 71 97 Fdem I i g 2m representation. lff'ind iri-:ri It;:;e
it Cinloiouluf 4 DI Fhs Son o o
Cav | E | 2G4 | 8o, reducible representation.
Ay [T (1. |1 |2 x% + y2, 22 Cot E | 2C4 | 30,
AT [=v R, (Agd1 [1 [1 [z X2 + y2, 52
E |2 [-1 |0 |y | - 9 APl |1 |-1 |R,
R.R,) x&'; Gz |l [ESF2 (-1 [0 [y |62 - 95
A L

r [12[0 |2 * ) s ?52 vz)

(1) 4A;+A,+3E r |12|0 |2

(2) 8A,+A,+4E (1) 4A,+A, +3E

(3) B8A,+2A,+2E (2) BA,+A,+4E

(4) 8A,+2A,+E (3) BA,+2A,+2E

(5) wRE v (4) 38A,+2A,+E

e y -;_{5) Question not attempted

6. H,0, % v v giw s % fore wfem 6. What are the possible point groups
fag ez “of'H,0, for cis and trans structure ?
(1) Cp, WD, (2 CuwWC,, @) CB‘, and D, (2) C,, and C,,
@ C,WCy (9 CWCy | AB) C,andC, (4) C,and Cq,
(5) FAgEiE ¥ (5) Question not &ttempted

7. An 'O,  point group does not have

7. W0, forg wg  wwfifa o T A whiehhsjmmetry element ?

1) G, (2 G, (1) C, 2 C;
3 C 4) Cq (8) C, 4) Cq
(5) I WA ; (5) Question not attempted

8. [Ru (n° - CgHy) (CO), (PMey)] * I 8. Ijxthe mass spectra of
g daga § [M* - 104] 5 T B9 | ,mu(n ~ CgHp) (CO),(PMe,)],
Tt I (Peak) Furiia 2 I ﬂg rz:a:ngﬁeivﬂed at [M* — 104] is
1) wwCoTHR | “(1} lfss of uge CO
(2) HPMe,FE 4 | (2 lossof one PMe,

(8) CO+PMe, 3™ & | (8 lossof CO+PMe,
(4) THPMe, +3 COBTHRA I (4) loss of one PMe, + two CO
(5) e wed I (5) Question not attempted
54 3 a




9. Fe(CO), # Cﬂﬁﬁahmhaﬁrls

lui

11.

T B
M 1 2 2
(3) 3 (4) 5
(5) SHTINA W
Ffwer 59 : 19.4, 19.5, 19.6, 19.8,
20.1 311 20.3 Ty
T4 e T %1 ured SN AT
uH
(1) 19.73m19.8 %
(2) 19.83W19.7 o
(3) 19.6 3 19.6
(4) 19.4 3T 20.3
(5) 3rTIRa
Freffian sttewe Aol i wfeER T FT AR 2
= (x) 5 6 7 8 9 10 11
wreaTEr () 7 13 16 29 21 46 6
1) 55 2 o B
3) 8 ) 7 g
(5) 3rgwa ¥ R
C,, forg v 1 & é aof e & P
zartu e sgfad- wfafafam § A, 3B,
=] IEEM :

E |2C,| C, | 20, | 204
Bl 1. )| 2 1 1 :
HENEREREY &
T, | 1| -1 1| 1 W31
| =1 [ 1 [ <1
r;lzlo|=2] o @
(1) rlaﬂlr4m: )
() T, 3% N
(8) I,
(4) T3 w87
(5) HFwed W

S C———

|
|
8
:
|
|
|
|
|
|
|
|
|
|
|
|

4

10.

11.

Size (x)

The number of CO stretching bands

IR bands in the Fe(CO); is
(1) 1 (2) 2
(3) 3 (4) 5

(5) Question not attempted

Data set : 19.4, 19.5, 19.6, 19.8, 20.1
and 20.3

The mean and median of this data
set respectively are :

(1) 19.7and 19.8

(2) 19.8 and 19.7

(3) 19.6 and 19.6

(4) 19.4 and 20.3

(5) Question not attempted

Find the median size of following
data series :

5 6 7 8 9 10 11

Frequenecy (f) 7 13 16 29 21 15 6
(1) 55 (2) 9
(3) 8 4 7

(5) Question not attempted

Identify the A, and B, among the
irreducible representation denoted
by [I's from the given character
table of C,, point group :

E |2C, | C; | 20, | 204
SR T
r,| 1|1 ][1]-1]-
NEIETERERIE
TAEFIEIENEIE
e | 2 | 004 =270 0

(1) T,and I, respectively
(2) T,and T, respectively
(8) TIyand T, respectively
(4) T,and I',respectively
(5) Question not attempted



13. T Fpawey @agiyehl § 3uam fEn | 18, The light source used in Atomic

14.

15.

16.

W AT YT HiA 2

(1) uHifeet —gar g

(2) uHifeE —Arges affaares o
(3) Twmge wEt

(4) WhEe HYUs a9

(5) FwE ¥

AT faveian § fam ofds ammEm

# CaCO, %1 feaia I a9 | A 7

(1) AT I
(2) COwuTH,%11: 1 fism |

(3) CO@ 0,1 : 1 fzm
(4) @ e

(5) ¥R |

wid], #@En 3R 9 & S FiSmieE
JeHe # e am 18 el o e |
el % HRV 3 FA: 16, 12 3 6 Ff |
9 | a1gii 1 B, 79 w9: 2
(1) 0.88, 0.66 311 0.33
(2) 0.66, 0.88 31 0.33
(8) 0.33, 0.66 31 0.88

(4) 0.33, 0.88 31 0.66

(5) swwiiCa S

g TR : 15.67, 15.69 31K 16.03
39 Hiwgl TR & A 3N aee fagem
HHA: % :

(1) 15.70 3 0,18

(2) 15.75 3R 0.19

(3) 15.80 3% 0.20

(4) 15.80 3R 0.17

(5) TG T

e e e . . e — T —— T —

14.

5. .

16.

absorption spectroscopy is

(1) Acetylene-air lamp

(2) Acetylene-nitrous oxide lamp
(3) Graphite furnace

(4) Hollow cathode lamp

)
Te

?@whjch surmu._ndjng atmosphere
omposition of CaCO, will take
ce at highest temperature in

hérmogravimetric analysis ?

(1) Nitrogen

(2) 1:1 mixture of CO and H,

(3) 1:1 mixture of CO and 0,

(4) Water gas
(5 ) Question not attempted

Question not attempted

B, paper chromatographic
H" aration - of silver, lead and
mercury, the solvent front was
';cms while fronts due to the
ele ents were respectively 16, 12
and 6 cms. The R; value of the

metals respectively is

(1) 0.88, 0.66 and 0.33

(2) 0.68, 0.88 and 0.33

(3) 0.33, 0.66 and 0.88

(4) 0.33, 0.88 and 0.66

i&% Question not attempted

%ﬁa set : 15.67, 15.69 and 16.03
{The mean and standard deviation of
tHis data set respectively is :

™ 15.70and 0.18

(2) 15.75and 0,19

(3) 15.80 and 0.20

(4) 15.80 and 0.17

(5) Question not attempted
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22. IuifeiEa A 3 frg ven 1 96
TR ?
(i'!GDCgHﬁ

&

(1
(2)
(3)
(4)
(5)

CN
C (CN),
+
C (CN),

NC

e

\

N
CN I

COOCHg
[4 + 2] - =g Tm
[2 + 2] —=sfg Im
[6 + 2] — =g A
(3 + 2] — =T gm

FFTia ¥
wfufera %1 yE s

NC

23.

200 °C_,

(1)

2

(3)

(4)

O D

(5) NgwiE W

22. What kind of cyelo addition is
involved in the following reaction ?
?ﬂﬂczﬂa

N
]
(1)
(2)
3
)
y :(§)

23.The major product of the reaction is

CN

NC

C (CN)q
+ |l
C(CN)y

\

T
COOCsH;
[4 + 2] — cyclo addition

[2 + 2] — cyclo addition

[6 + 2] — eyelo addition

[3 + 2] — cyclo addition
Question not attempted

NC
CN

e

@)

(3)

(6) Question not attempted




24,

25.

forferfiga & & w19 o srfufwa arfg gfe
dafiag?

et

(1)

(2)

(3)

(4)

COyMe
(5) HAwNa T
sifafiaa wfufern @ 3e [A] 9 36
ﬁﬁqu:rm%:
CHs// H msET
—> [A]
H CH; A
Trans, cis — 2, 4 — Hexadiene
H4C CHy
(1) =hiareedt,
H H
H,C CHj
(2) femieedt,
H H
HsC H
3) femmeed,
H CH;
H4C H
(4) IR,
H CH;
(5) S S

— — i — i — ——— T S — ———— .

24.

25‘

Which of the following reactions is
thermally forbidden ?

1 I+ QO — EQ
(g )

e i
(4) O&*Rcﬂsm

(5) Questioh not attempted

(2)

my_MB‘

Give product [A] with its stereo -
chemistry in the following reaction :

CHSQH heat
e
H Shiis

Trans, cis & ‘Z. 4 — Hexadiene

[A]

) HsC CHj
(1) Conrotatory, ‘ |
H H
- ch CHH
(2) Disrotatory, @
_ H H
=y HC H
3) Disrotatory. l '
(3) D L. CH,
HyC H
4) Conrotatory, |
k8 Lo ol o CHy

(5) Question not attempted
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e 26. frafaflgs 4 @ thesfFs sfufrmd

wnfire £ | snfire arfufiranatt & af aem
= T H |

Fh ?%’: ks Ph L Ph
=0 + ||| _5.1:11 Ph+cu
& "rﬂ - Ph
(1) [4'+ 2] wmgae ofeeq + [2 + 2]
wTge - frae
2 fefefes afufem + (2 + 2]
argEA! ufgeA
(8) [de% 2] Tl URETH + [4 + 1
@) [g;crz]mﬁ“ﬂz%mﬁ?ﬁ%ﬂﬁﬁ*
(5) IrwE I

(1)
(2)
(3)

(4)
(5)

—— e e s T — ———— — — . s

26.

The involvé"s two

pericyclic reactions. Identify correct

following

combination of the types of reaction

involved.
Ph Ph
Ph Fh Fh
o+ || -2 +C0
Ph Ph Ph
Ph Fh B
(1) [4 + 2] eyclo addition + [2 + 2]

cyclo reversion

Cheleotropic reaction + [2 + 2]
cyclo addition
[4 + 2] cyclo addition + [4 + 1]
eyclo reversion

[4 + 2] cyclo addition +
Cheleotropic reaction

(2)

(3)
(4)
(5)

Question not attempted

27. The following reaction is a

?
3

(1) [3, 3] - Sigmatropic
rearrangement

(2) [1, 5] — Sigmatropic
rearrangement

(3) [2, 3] - Sigmatropic
rearrangement

(4) [5, 5] — Sigmatropic

rearrangement

(5)

Question not attempted




29,

0 OH
A
== i
L

IqtrE e & foe Pafefga g e o
AFF AR ?

(1) I8 FA5H 2l

(2) =E[1,3] 21

(3) ¥’ TH FTUAH LA

(4) TEHEEREEE
(5) IHETIE WA '
O

-*"I THF, CgHs 5
FfufFEm F1 e ®

(1)

(1)
(2)
(3)
(4)
(5)

1O S

e e — — ———— ————— ——

[
o

[~
=

. The

0 OH
i A r

—

Which of the following statement is
correct for the above reaction ?

EI; It is Claisen rearrangement.

2) It is [1, 3] sigmatropic
rearrangement.

(3 It is an intermolecular
rearrangement.

54; It is Fries rearrangement.

5) Question not attempted
= | TH_F‘:& CeHly , ,

The pr%duct of above reaction is

(1)
2)

(3)

0H
(4)

(5) Question not attempted

following reaction is an
example of :

o> — QD

(1) [2, 3] - Sigmatropic
rearrangement

(2) [3, 3] — Sigmatropic
rearrangement

(3) [1, 3] - Sigmatropic
rearrangement

(4) [1, 5] — Sigmatropic
rearrangement

(5) Question not attempted
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31. ufye-3.afedeane & AW H

NaBH, & 8% 39934 § %4 ¥ I
aAMe 7
(1) CHy - CH - CH, - CH,0H

OH
(2) CH,-C-CH,-CH,0H

0
(3) CHE_LI':H-CHE—%— 0 -C3H,
OH
(4) CHH—?H—CHr{I]H—D-CQHE
OH
(5) rwia ¥

32, Frafafes sifufrn &1 9@ g 2

FPh
0 0

MeO ™  LiAlH,

pp —
H l/Ph
N

Ph

HO

(1) MeO

HO

HO
OH rPh
N
(3) HG/Ij)\/ ‘lh
HO
O
(4) Ho/ﬁv NHy

(5)

—— e s — T — —— —————— ——

31. The reduction product of ethyl-3-
Gxnbutanuate with NaBH, :in

*,;qethancl is :
w CH, - ?H CH, - CH,0H

- OH
<2 CH,-C-CH,- CH,0H

0

(3) CHE-?H-CHE—&— - CH,
OH

(1) CH,~CH-CH,~CH-0-CjH,
¥ 3 DH
‘{5} Question not attempted
l.“‘:__.I

32. ,_Ji‘he major product of the following

creaction is :
™o 0 ﬁ
N #
Sl N LiAH,
Pl
HO
0 OH ( i
N
MeO N
(1) 5
HO

N

da HO
- Ph
) OH
! Nr\l
o HO
m) FPh

HO

0
NH2
{4} HO
HO

(5) Question not attempted

z
o




33.

34.

0s0, 3R NaHSO, % | ¥ess 30

e R

(1) 2R, 3R - T ana
(2) 28, 38 -z I
(3) 2R, 38 - Tl I
4) () -z v

(5) IFENE W

frefeafgs sfufrm F e ?

(;C"‘ X . 0 NaBH, ot 152
r N

33. Maleic acid with OsO, and NaHSO,
gives
(1) 2R, 3R - tartaric acid
(2) 28, 35S - tartaric acid
(3) 2R, 3S - tartaric acid
(4) (+) - tartaric acid
(5) Question not attempted

34. The major product of the following
reaction is :

Lt
(@ W
@ mﬁ /©\ i

OH
(5) Question not attempted



35. avifefiaa difie =1 £l LiAIH, % | 85. Which is the reduction product (A)
of the following compound with
LiAIH, in ether followed by aqueous

work-up ?

36.

|y sfufEm w0 F 39, we A P W
H9 {1 T IS (A) FIATR ?

0
LiAlH, N
0" "0
OH
R
O

OH
0 8]
OH

l
CH,- CHO

OH

H

(4 HO-CH,-CH,-CH,- CH -
CH, - CH, OH

(6) e e

(2) CHj

(3) CHy
HﬂchGH

(4} CHa

(5) FIHIE ¥

e —— — ——— —————

13

(1)

h 0~ “OH

OH
(2)
0" 0
H
(3) HO-CH,-CH,-CH,-CH-
.CH, - CHO

(4)* HO-CH,-CH,~ CH,~ CH -

':' CH, - CH,0H
(5) _Question not attempted

OH
/O RuO,, NalO,
. HyC » [A]

[A] in the above reaction is :

o
(1)L CH;,

= OH

el
(2) CHs
(3) CHg4

HDQEO/DH |
(4) CHg
(5) Question not attempted
o




38.

: H,0"
87, “RLi4 00z A— s Bty C

afies C 2
(1) R,CHOH
(2) RCH,OH T

L0
(8) R,CO o

o
(49 RCOOR N
(5) orgea e
CgH; C = C C.H, #¥Ta § &1 goare
Iferm Tmgee & wry sfufFm At 2
(1) === W

by
@) CgHg- ff= fll - CeH

OHOH =

L
(3) CgH, CHO
(4) T O FEH A
(5) 3w ¥

(1) Na,Fe(CO), -
(2 Rh[(CHYPICI €N
(3) CrO,-2CH,N

(4) K,Cr,0,/H,80,

(5) 3w W

s e e — — s o —— —— S ——

S

RLi H,0"

87 REA+ 00, - A——2s B 5 ¢

38,

e
L

Compound C is :

(1) R,CHOH
(2) RCH,OH
3) R,CO

(4) RCOOR

(5) Question not attempted

CgH; C = C CH, reacts with two

equivalents of thalium nitrate in
methanol gives
(1) Benzil
(2) CgH;-C=C-CzH,
OH OH
(8) CgH,CHO
(4) 2 moles benzoic acid

(5) Question not attempted

Identify the Sarett-Collins reagent :
(1) Na,Fe(CO),

(2) Rh [(C4H,),P) CL
(3) CrO,-2C,HN
(4) K,Cr,0./H,80,

(5) Question not attempted

s



40, & ¥ Tefifiem goge 6 sifeeass
F o rfufir @ v 3are w1 fasteen

41.

TR, TE I R
(1) fe=f=

(2) 1, 2-zE%ie e
(3) 1,2-3wHMA QU
@)
(5)

Br

GGECH;; "‘. A

Cl )]
CH, -t

(2)
CO,CH,

Br
(3)

CH,OH {e

Cl
CHjy

4) ™
CH,0H

(5) Fwia ¥

15

40, When the product formed by the

41.

reaction of benzyl magnesium
bromide with benzaldehyde, 1is
dehydrated, it gives

(1) Stilbene

(2) 1,2-diphenyl ethanone

(3) 1,2-diphenyl ethyne

(4) Cinnamaldehyde

(5) Question not attempted

The major product of the following
reaction is :

Cl
Br I
LiAlH, (excess)
THF '
CO,CH,4
Br
(1)
CO,CH,
Cl
CH;
(2)
CO,CHy
Br
(3)
CH,0H
Cl
CH,
(4)
CH,0H
(5) Question not attempted




. Prefafes sfufrn S ger 3wl AT B | 42, Identify the major products A and B

= JEEE

Ty
O
G.r""\-..

T e T
Me

YBuLi {Lﬁ}

1=k Et,007)

N

g TOMe /K«D J‘;}
° G 5B
Me Me £

B

STy
Me Me
A

AGMB 0 -

Li HOO 2

o 5 o)

M A Me ,r-arl

/\

o P
M

FAANA 9

(5)

e e — — —— i — — ——— —

16

of the following reaction :
{]ﬂﬂMe
@ tBuli
s dry Et,O
1. CO,
2.H,0° ° D
Li COOH
U/l\(}!'-'la D/I\GMB
M s
Me Me
A B
ﬁ OMe
@ ,©/ Jf:rcom{
o oMe o oMe
Li HO
@) ﬁ
Me Me
A B

uhDMa nhﬂﬂa
Q
Me i Me COOH
A B

(5) Question not attempted

E



43.

44,

(5) FgeIRE W
Frefefas sfufran 1 969 3ame
Ml
1 =i »
2 B H O
HO
M‘? OH
1) @&5
HO
ME%H
> R
Li
HO
Me 0OH

Ma O—==
i ,C(?§
H
ST S

(5)

17

144,

43. The major product of the fﬂllnwmg

rea.ctmnﬂm
/l\)k 1. Z SN MEB"# »
2. Hy0"

o n Lo

L) M

@

'Lf_' i | H
3

(5) Question not attempted

The major product of the following
reaction is

(2)

o @(530
dw

l]-,_,gr } I
= Il

(5) Questlun not attempted
o




45.

46.

47.

CH,COCH,COOEt + CICH,COOEY

(1) NaOH,I
NeORt 3 B+CO,
(2) H*, 3sm@

IE HuF A B 2

(1) Whewm (2) =Riwwa |

(3) wfFat s (4) Ao i

(5) i }
|

H.O0*
CICH,C0,K— SN, A "% ,B
Inte FfufEn d B 2
(1) FTedfers 3
2) e s
(8) M 3
(4) WNEES I
(5) AN ¥
CH,(COOC,H,), + CO(NH,),
&
C,H,ONa
» A+ 2C,H,OH
I AffFn i Imme AR I
X l
(1) H.T (2) Nj‘n I
Ao iy |
O H |
i |
@ i\ (4) “yew |
0~ SN~ 70 o o I
H 18] F
(5) ST SeH

45.

46.

47.

CH,COCH,COOEt + CICH,COOEt

NaOEt , (D NaORLy o co,
(2) H*, heat

B in the above reaction is
(1) Adipic acid (2) Glutaric acid
(3) “Shcmmc acid (4) Malonic acid
(5) ;:;Qiueatiun not attempted

>
CECﬁ’fi'JOEK
B in the above reaction is
(1) Oxalic acid
(2) Malonic acid
(3) 1 Blutaric acid
(4) “Propanoic acid
(5) Eﬁjuestiun not attempted

H,0*

KCN}.A > B

(=]

CH,(COOC,H;), + CO(NH,),

C,H,ONa

» A +2C,H,0H

In above reaction product A is

W
(1) H_T (2) iﬂjﬁﬂ
By ey
7 o H
e 0 H
3) H_i @ My
ﬂiﬂ (0] a 0
H 0

(5) Question not attempted
54



[ ——

48.

49‘

(1)

(2) Ph-N-Me

Me

(5) FTNE W

& o
i. NaOC,H;
CH,(CO0C,Hy); ———crp2
C,H, - CH (CO0 C,H),

&
i. Hy,0, H
ii. 150 — 200°C
(1) (CH,),C - COOH
() CH,-CH,- ?H-— COOH

CH,4

®) CHy-CH- CH,- COOH
CH,

(4) CH,-CH,-CH,— CH,~COOH |

(5) FARA W=

48. The major product of the following

|
|
|
|
|
|
|
|

19

49.

reaction is :
H
W(,, _Phli ,
Lo
L)
L)
{I:_" - NS
¥ ' P’h
(2) Ph-N-Me
Cl
{B)JQ:D
e |
£ Ph Me
-\.—..i
B~y
I Me

(5) Question not attempted

@ 9
i. NaOC,H;

C,H.-CH(COOCH)),

L &

1‘_}120 H
150 — 200° C

'ﬂe above reaction product A is
(1) /(CH,),C - COOH
(@) “CHy—CH,~- CH- COOH

CH;
(3) CH,- CH- CH,- COOH

|
CH,

(5) Question not attempted

—



51.

+B
0

I sffFm i Iz B2 :

0
(1)

0
) R

(]
3 O 0 .
(4) :
(5) ITE W
ufue TR e # SheeEedH % 9y
wfufrm 3mmg [A] & 2, fores smafm
e & |y Afuferr @ [B] 3w 2, [B]
3
(a) 2, 3-zEAfUe-1-%Fw Hwita’las

e e
(b) ufRumst
() 2-ufrt-1-Hfer rgeiter-5- 31
(1) ¥ad(@) (2) a9 (0)
(3) B3I @) (a)3R(b)
(5) FvINa T

|
|
!
|
|
|
|
|
|
|
|

20

50.

51.

0 8]
0

In above reaction product B is

hu

—

0

(1)
0

@) $ 2

0

3 o 0

- ik

(5) Question not attempted

Ethyl acetoacetate on reaction with
phenylhydrazine gives product [A]
that on methylation with dimethyl
sulphate gives [B]. [B] is

(a) 2, 3-dimethyl-1-phenyl
pyrazol-5-one
Antipyrine
2-methyl-1-phenyl
one

Only (a)  (2) Only (c)
(b)and (¢) (4) (a)and (b)
Question not attempted

(b)

(e) pyrazol-5-

(1)
(3)
(5)



52.

53.

54.

T WIS AT ST 5 g 3
1 Faform e 72 g 8 39 S 5
T v & T Wl g 58 wiha
# o wenfe 3R sEeEn | It 2
g S e a4 e T 80 1 5|
yieRaT 1 S AR

(1) sefereen wifm

(2) werEy (sfedf)

(3)
(4)
(6)

CHj4

HOOC - CH, - CH, - CH,0H
HOCH, - CH, - CH, - CH,0H

(3) CH,;-C-CH,-CH,0H
(4) OHC-CH,-CH,-CH,-OH
(5) IFwfE W

fafirm sotagifas dnm % foru smevas |
FA HIFAR

(1) o—>0c*>n—>0o*>n > n* }l

n —»n*
n »n*>g>a*>n->0o*>
o — o*
tT—=n*>n >n*>0c->0c*>
n—- o
n—s>o*>n ->n*>c—>0*>
Tt — n*

FAANA I

(2)
3)
(4)
(5)

21

—

52. In a photochemical process when

e

@

i 54.

_.,.* 1-...!"

“the excited state of donor molecule
transfers its large amount of energy
to the acceptor molecule and in this
process acceptor species is promoted
to excited state and donor species

returns to the ground state”. This
process is known as :
(1) Intersystem crossing
(2) Fluorescence
(3) Photosensitisation
(4) Phosphorescence
(5) Question not attempted
CH; OH
NOCI ek hv ., B
h .
C ydrolysis D

D in the above reaction sequence is

(1) HOOC - CH,-CH, - CH,0H
(2) HOCH,-CH,~-CH,-CH,0OH
(3) CH,-C-CH,-CH,0H

OHC-CH,-CH,-CH,-0OH
(5) Question not attempted

The order of energy required for
various electronic transitions is :

(Dvo>ac*>n—>c*>n— n*>

n —»n*

) (2) n oHn*>a->n*>n—->o*>
ag— o

[3] T->n*>n »>1*>0c > 0" >
n— o*

(4) n—2>o*>n »>n*>0c-20">
T — n*

(5) Question not attempted




55. faafafan & & =9 € v anfogs shwar | 55.

56.

517.

frad Sexforen it = welfa st 2 7

(6Y)
(2)
(3)
(4)
(5)

(1)
(2)
(3)
(4)
(5)

A 5 A+ 5 T,——85,
SA""}A"'”hU TIMMH—-}SD

A* 5 IA+ TN S ~nn—s T,

A* > A+hy  Sjavvvnnes §,

FEE W v :j

s 1.

56.

Which of the following wuni-
molecular  process  represents
Reverse intersystem crossing ?

(1) *A—> A+heat T, —— S,

(2) A5A+hy  Tjv—s §,
(8) A*—>3A+heat S ~—s T,
4) A*>A+hv
(5)

Slm-\h\.—isﬂ

Question not attempted

The major product of the following

reaction is :
0
hv
| CaHs

and 1, 2-shift
Ph Ph

0

(1) &’P" ) @m‘
Ph Ph
OH OH

® Q\m @ Q i

Ph Fh
(5) Question not attempted

Photo rearrangement reaction can
lead to

(1)
(2)
(3)
(4)
(5)

Racemization

Geometrical isomerization
Linkage isomerization

All of these

Question not attempted



58.

59.

(V.P)

g # 6-8<-2-31H & Y Ino §
it ‘A’ & & o deisE UAEEERE %
Ty Al # T FH W 6 A
TR A FEETE

7N\

(1)

(2)

(3)

(4)

(5)

CH,- CH,-CH, - CH, - ECH3
bV _, CH,CH =CH, + CH, COCH,
Iy AfafRa Feed &
(1)
)
(3)
(4)
6)

Atfte zrgd 1 9o

e 2rgw 11 5w

TeAi-gHt s

TR - THTA S T
FAAHA 9

|
|
|
|
|
|
|
|
i
|
|

23

58.

59.

Photoexcitation of 6-hepten-2-one in
pentane provides a compound ‘A’
which reacts with maleic anhydride,
on heating to give cyclic compound.

Structure of ‘A’ is

i

[!.I_‘.""r
-

@ NS

&)

(3)

®

N

Question not attempted

0
CH, - CH,-CH,—-CH,- & CH,

_ﬂ?%—]_} CH,CH = CH, + CH, COCH,

Above reaction is called as
(:li Norrish type I process
[fﬁﬁ: Norrish type Il process
LE} Paterno-Bushi reaction
(4)
(5) Question not attempted

Photochemical isomerization




- il

60. D.%E ud D-iewRem &

61.

62.

(1)
(2
(3)
(4)
(5)

frferfan @ @ #%7 @ Wer 9 & fog
gafea 2 ?

(1)
(2)
(3)
(4)
(5)

Y et s 3 e R 3 @
I HT HUT TE TR 7

(1)

(2)

(3)

(4)

(5)

C - 1 wfigd
C - 2 udfigd
C - 3 witwd
C - 4 wimd
TRa 9

foew 1 foptfen

&Te, ANgA | HEEA
He § Hieto
HrEufE § wrgwie
FANE 9=

wfufFan & sifafes &t e
ST & T1Y JI ©9 | I fod
mﬁﬁawmaﬁﬁmwi
AR | |
78 IR gl o aerd) & wven |
i v fafr 2 I
Ftufrn Bftm S {ﬁﬁ'ﬂﬂ
Heifaea) 2 | l
e sy n, o o e |
%mmmﬂwmi
21

HATE 09 l

24

60. D-Glucose and D-Galactose are :

(1)
(2)
(3)
4)
(5)

61.

C -1 epimers
C — 2 epimers
C — 3 epimers
C — 4 epimers

Question not attempted

Which of the following 48 correctly

matched for fibrous prateins ?

(1)
2)
(3)
(4)
(5)

-p
Keratininsilk .

Myosin in hair, nails
Collagen in tendons
Fibroin in muscle

Question not attempted

62. Which of the following Eﬁb&ment is
not correct for Pauargo Bushi
reaction ? =

(1)

(2)

(3)

(4)

(5)

The reaction in%ea cyclo
addition of an electronically
excited carbonyl group with
the ground state of Olefin.

It is a method for synthesis of
four membered ether rings.

The  reaction f,'i% stereo
E-ElECtiVE d;JI.}

The photo addl occurs
efficiently when pnglet state
has the n, n* configuration.

Question not attempted



63.

64.

65.

DNA &} fgdfas w4 12fm am, frg
§R & HTY TESIIA §9A $ g0 0 fas
aE A e ?

(1) ensfe
(3) Wt

(5) TG W

(2) wmEefm
(4) Fifes

ferireftss et 2 L
(1) Iwm-6-Fuer O
(2) M - 3 — ¥ ofae
(3) M - 8 — %A ufire

(4) WM - 12 — % ufire

(5) rgaia W

i-=

DNA % @ &2 % ¥ @e # #1 %1
ot o v 2 X,
5'--- CAT CGT TTG ACC GATSS- 8'
T Ge ¥ T m-RNA 3rFa TR
& ?
(1)

|

3'--- GTA GCA AAC TGG CTA |
o I

.- CAU CGU UUG ACC|
GAU B

¥ q_ "_

5'--- GTA GCA AAC TGGE&"}'A

|
|
i |
|
|
|

(2)
(3)

.-- CAU CGU UUG MEC
GAU o

FAANE T

4)

(5)
25

63.

64.

65.

In a secondary structure of DNA the
base adenine pairs in a specific way
with which base through hydrogen
bonding ?

(1) Thymine (2) Cytosine
(3) Guanine (4) Uracil
(5) Question not attempted

Linoleic acid is

(1) Omega — 6 — fatty acid
(2) Omega — 3 — fatty acid
(3)
(4)
(5)

Omega — 8 — fatty acid
Omega — 12 — fatty acid

Question not attempted

The sense strand of a segment of
DNA has the following sequence of
bases :

5'--- CAT CGT TTG ACC GAT --- 3'

What m-RNA sequence would result
from this segment ?
(1) 3'---GTA GCA AACTGG CTA
-5
3' --- CAU CGU UUG ACC
GAU --- 5'

-- GTA GCA AAC TGG CTA
e G
(4) 5 --- CAU CGU UUG ACC

GAU --- 3

Question not attempted

(2)

(3)

(5)

S




66.

67.

68.

69.

70.

B-HUEH ® wuw: Fead Afus @qg 99 | 66.

fe-amusag?
(1) 10, 11 @ 11,10
(3 10,10 (4) 11,11

(5) w5

TR eyl § uTe fem e R
(1) pHA I (2) oI

@) pFRATE  (9) W&@

(5) HgARE W o

-
e FieEtoTde s f deElE
HEATH > N — CH, 79 987 91 & 2
(1) s (i)

(2) W™ @)

(3) WM (FAHITA)

(4) wrgeam (aferm)

(5) HAIHE 9= L

FehA 1T H, H‘Iﬁiﬁﬂimﬂﬁﬁ?ﬂ:ﬁ IEE.
oy i R I 2 7

1) wFEE (2 R f""*‘-

(3) ﬁ??ﬁﬁ'ﬂ'ﬂ (4) vegmtEs

(5) A I

Prferfan 38 29 3 (6 + 3 TeEen |

FgETE T AAIEATEE 2 7
(@ IEFE O T

— . . S . Ao R T T—— T R W— L T

(© ¥ @ T 5
(e) FRARAA
(1) (@3 (2 b 33(e)
@) ©@3IAR@ @ G W()
FAANA W
26
A

67.

68.

How many methyl groups and
double bonds are there in
fi-carotene respectively 7

(1) 10; 11 2) 11,10

(3) 10,10 (4 11,11

(5) Question not attempted

The final product obtained in the
Strecker synthesis is

(1) PB-Keto acid (2) o-Amino acid
(3) p-Keto ester (4) Cyanohydrin
(5) Question not attempted

Which benzodiazepine drug has
> N — CH, group in its chemical
structure ?

(1) Oxazepam (Serax)

(2) Lorazepam (Ativan)

(3) Clonazepam (Klonopin)

(4) Diazepam (Valium)

(5) Question not attempted

In vulecanization, natural rubber is
heated with which element ?

(1) Phosphorus (2) Sulphur

(3) Selenium (4) Aluminium
(5) Question not attempted

Which of the following are (6 + 3
membered ring) bicyelie
monoterpenoids ?
(a) iso camphane(b)
(¢) carane (d)
(e) nmorbornane

(1) (a)and(e) (2)
(3) (c)and(d) (4)
(5)

thujane
pinane

(b) and (e)
(b) and (e)

Question not attempted



71.

72.

73.

?4"

FH A1 sergie w1 H 909 1 %M | 71. Which electronic level would allow

sraeifya 0 61 el @ 2w 2, e
B2 ScafsAd F #1 TE] ?

(1) 38 (2) 2p
(3) 1s (4) 2s

(5) IAgE w9

3s UTHIY] FHEF H TG TG & S
Ha %7 gfem &

(1) 0 2 1

3 2h @ +feh

(5) AT W9

iTWﬁ‘T{ﬁTnlﬂ‘ﬁﬁﬁ:

(A) 7= fpda 6 wdt s=fe-aifyh
it 5t fes =3 Y Frefoe =@
& 3edfmEER |

(B) #& sfurdim 2 % ot =i
e e 89 § |

qé HYF T |

(1) (A) 3R B)THIETE |

(2) (A) 3R (B) I 3@ # |

(3) (A) yE=R AN (B) TR |

(4) (A) "2 3 (B) 3w R |

(5) 3w wH

= 1§ $ W Her a0 %o & w9 §
qAR?

@) y=a

4) y=e*

(1) y==x
(3) w=e*

(5) Fald 9

27

72.

73.

74,

the H-atom to absorb a photon but
not emit a photon ?

(1) 8s (2) 2p

(3) 1s (4) 2s

(5) Question not attempted

Tha_'ll.":;inagnitude of the angular
mm:ﬁgﬁtum of an electron that
uucﬁq‘iés 3s atomic orbital is

(1) 0 @ 1

3 \2h (4) B

(5) Question not attempted

Consider the two statements :

(A), It is postulated that all
;Eyantummechamcal operators
. that dynamical
“variables are Hermitian.

()1t is postulated that all
" Hermitian operators  are
Hamiltonian.

represent

Select the correct statement.

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are untrue.
(3) 1 (A) is false and (B) is true.
(4) “{(A) is true and (B) is false.
(5) 1 ’:Queat;ion not attempted

Which: of the following functions is
acceptable as wave function ?

(1) y=x (2) y=x°

@ y=e* (@) y=e¥

(6) Question not attempted




75. T : (6%ox? + loy? + %oty AW R ! 75. The term : (6%/8x% + d%oy® + 6°%/0z2)

76.

717.

(1) HHE e
(2) St s
(3) e sz
(4) #IfETR T
(5) ITE ¥
H,* % ford ¥fivefem siider B o Rl 76
3 o
b
fa/f NDb {:T
:x’ \\ d."'lr'-
~ ATy
Hy Rag Hg
h2 1
=] 2| yoa=_=
 H [Bﬂgm) L
e? e* ﬁ} o
T, T, Ryp *L‘.r
A h? e [ L
(2) H= (E-n:zmj vVe+ ine, b
2 .2 2 &n
__—_e__'__._-e_-_} I."'q ||:
ra T, RP.E
% h2 1
= L R
5, A% [E Vot e,
of gt 1a%
[ra o Iy, i RAE]
b iR W e 1)
(@) H “[snﬂm) Vit Tne,
[ o2 o2 g? ] 4P
L o % e ¢
(5) e (;?

FIEEIeA T % B | et lTw'
(1) —e¥dneyr (2) +eldneyr i
(3) —e8ne,an’(4) +e?/Breyrn? }
(5) ST S

28

is known as

(1) Kronecker delta

(2) Laplacian operator

(3) Hamiltonian operator
(4) Schrodinger coefficient
(5) Question not attempted

For H,*, the Hamiltonian operator,
“H" is given by :

e
f;-‘\
Pl b
rﬂ;’ \‘rb
.r’ ‘\
iy i
[ R »
Hy Rap Hg
A h# 1
- 2
o f=(gh] wig
et o= gt
_ra iy Iy L RﬁB
A h? 1
= 2 4 —
@ [Enzmj Vi Ine,
e ¢t e
gy 1, ¥ Rag
A h2 1
R = - iy R W 0
@ H= [Bm) VAt
el o2 @
[ra T b i RAE:l
P h? 1
= 2
(4) H—-(Eﬂgm] Vi + dnc,

et o? @?
g
[ ry Ty R.&B}
(5) Question not attempted

The potential energy term in the
hydrogen atom Hamiltonian, is
(1) —e%dneyr (2) +ePldnegr
(3) —e%8me,a n®(4) +e?/Bne,rn?
(5) Question not attempted
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79.

80.

81.

82,

a TS a1t st ey wfa & foe sl
T 14 h%/8 ma? ¥ s9weal Fi TE St |

W 1 @ 8
(3) 6 4 9
(5) rguiE v

v fafeem w99 ¢ W, w S0 %1 s
= Nea Y, (8, ) #ren & 5l N

ﬁa%ﬁlﬁm%&ﬁt’mm
HqT Y, 79 qRTE #= B 2 "8 I
g |

(1) 6h2 (2) ~/6h?
(3) 6%h? (4) 1h

(6) gwiftd

fefafEa i d s @ P g e ?
(1) f=NaCl (2) Si

(8) FeO (4) As

(5) FaRa W

TF #e Weeh, e uee 59 % :H W
7 &7 W fag 8 A, s Am A @
(1) =& 941" Jes

(2) F&F — Hiwa T FEH

(8) M —HiFd oig T

(4) NG =HE AT

(5) i@

A a WE a* & Fgea Fuifa w1, wat
a = (x + ip)/2¥ |
a*t = (x—ip)/2*

_——— ——

(1) h (2 h/2
(3) -h/2 (40 =-h l
(5) AgwiE W |
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78. Calculate the degeneracy of the
energy level 14 h%/8 ma? for particle
in a three-dimensional cubic box of

length a.
£2) 1 (2 3
(3) 6 (4) 9

(5) Question not attempted

79. At a certain instant of time t’,

grtmle has the state function ‘F =
Hp’“’z Y, (8, ¢) where N and a are

rj_gsqnstanta, If lg of the particle were

Ltd be measured at time t', what
would be the outcome ? Choose the

correct answer.
(1) 6h? (2) +/6h2
(4) 1h

(3) 6%h?
(E} Question not attempted

80. . }fihu:h one of the following contains
I ._F‘rcentrea ?
{1 Yellow NaCl (2) 8Si
{3 FeO (4) As
L(8) Question not attempted

81. A Bravais lattice, which has points
at the corners as well as in the
centre of each cube, 13 known as :
(1) simple cubie lattice
(2) face-centred cubic lattice

(3) body-centred cubic lattice
'{3) primitive cubic lattice
(5) Question not attempted

=
~Determine the commutators of the
~operators a and a*, where

82.

a=(x+ip)/2*

a*t = (x —ip)/2*
(1) h (2) h2
(3) -h/2 (4)' =h

(5)

Question not attempted

-
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84.

it (A) : FaEfeE Terat w1 v
S T A HT # |

S0 (R) : FHARS Tgrl # A &
qEHE Wy wEEE e H

HHETE U e feamad #

mﬁﬁl L™
(1) tAJah(Rma‘fmzmé@m}
T T AR | ;-x.p
@ (&) 3 (R) I I E, TG (R) (A)
+ wdt SETE AE AT |
3) (A) @R (R) FEAE |
(4) (A) 3@ R 3 (R) &9 il
(5) vl ¥ v
mmﬁqﬁmaﬁ
() WwHade
(i) e x
i) s o
Gv) Rffsam {,
wﬁmﬁﬂﬁmﬂﬁ%m%w
A HE TR ?
(1) el 3
(2) FarRreh g
(3) e g wF srqueT A
(4) ffee 3w vd wich g
(5) srgmiE v

I
|
|
|
|
}
|
|
|
|
|
|
|
|
|

30

83.

84.

Assertion (A) : The ferromagnetic

substances can be
permanently magnetized.
Reason (R) The magnetic

moments of domains in the
ferromagnetic substances are
aligned in parallel and anti-
parallel directions in unegual
number.
Select the correct answer.
(1) Both (A) and (R) are true and
(R) is correct explanation of
(A).
Both (A) and (R) are true, but
(R) is not correct explanation of
(A).
(A) is true, (R) is false.
(A) 1s false, (R) 1s true.
Question not attempted

(2)

(3)
(4)
(5)

Consider the following crystal

defects :

(i) Frenkel defects
(i1) Schottky defects
(iii) Interstitial defects
(iv) Vacancy defects

Which of the above defects cause a
decrease in the density of the crystal ?

(1) Frenkel defects
(2) Interstitial defects

(3) Schottky defects and Interstitial
defects

Vacancy defects and Schottky
defects

(4)

(5)

Question not attempted



85. gEm wd e % FrawrER, wHwwitys

86.

87.

88.

ST 1 FRR e W s wifiar 2 2
(1) 5R (2) 3R

(3) 5RT (4) 3RT

(5) rviRE we

s e & fie guei® (3, 2, 2) % | T8
foreer amet =1 A 2

(1) 3a,-2b,-2¢

(2) 2a,-3b, -3¢

(3) 2a,-3b,-2¢

(4) -2a,-3b, 3¢

(5) Fgwia w=

2D #, HYH ATeTh, A4 TTeTH T BT 2
Fifeh,

(1) Teedt gl FHFg s Ui
(2) I8 T I T W@ R |

(3) Free w1 wfufamm wf figelt w
A TE AR |

I% U AR T & qH Bl
21

FTE W9

4)
(5)

svifefean 4 gaifus S s R
B R 7

(1)
)
(3)
(4)
(5)

hep
ccp
bee

HIA A AT

HAAHE 9

1

|
|
|
|
|
|
|
l
|
|
|
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86.

817.

88.

According to Dulong and Petit law,
the heat capacity of monoatomic
solids at constant volume is

(1) 5R (2) 3R
(3) 5RT (4) 3RT
(5) Question not attempted

The M%f indices of a crystal plane
are (3, 242), it cuts through the
crystal axes at

(1) 3aj=72b, —2¢

(2) 2a,-3b, 8¢

(3) 2a,-3b, —2¢

(4) —2a,-3b, 3¢

(5) Question not attempted

The homeycomb lattice is not a
Br&vais’:«l:a{ﬁce in 2D as

(1) it &héa not satisfy long range
ord J,

it @n@s not fill space.

the orientation of the crystal is
not the same at all points.

it is identical to a rectangular
lattice.

Question not attempted

(2)
(3)

(4)

(5)

The mr;f_gft::lmsely packed structure
among th Rfollﬂwing is

(1) hep
@) cch ]
(3) bee
(4)
(5)

simple cubic lattice
Question not attempted
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90.

91.

2 | U i1 1 T T 2.0 A &
R | U F1 99 10.0 g em~® 2 | 100 7T
e 1 ek BRI 1 EE i -

(1) 1.25x10%
(2) 2.5x10%
(8) 5x10%
(4) 1x10%

(5) e e

i &
ik

b wS

'1
b i
et o1 3 Tor wmTatly ordfom weeH

T8 -

QNS6

a2
) [2:: MR v

‘N, ’h?
(2r MRT)32 .V
(2r mkT)32 . Vih '
(2n mkT)¥2 . VIN, L

L
ECRIIGR ]

(2
3)
(4)

(5)

ey
o

.,.~J

Mﬁm%mmﬁmﬁm
% I9gF feq yenal v Fmi & fg
AT AT % AY UH HHEE 9q49
2 | 39 o % Foro vl 2

(1) B=b=t¢;‘f=12ﬂ°,%,-._5|3=9ﬁ°
(2) a=b=#c;y=60° w’:ﬂ} 90°

3 a=b=¢a= 12(:-“””

(4) a#b zca=p= v*‘“"ﬂﬁ“

(5) Iea T N

|
|
1

|
|
|
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I
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89. A metallic element exists as a cubic

90.

91.

lattice. Each edge of the unit cell is
2.0 A. The density of the metal is

10.0 gem™3. The number of unit cells
in 100 g of the metal is

(1) 1.25x10% (2) 2.5x 104
(3) 5x10% (4) 1x 1020

(5) Question not attempted
translational

The formula for

partition function of a particle is :

[anR o

N,2n2 ) ‘Y

(1)

(2r MRT)32 .V
(2r mkT)¥2 . V/h
(2n mkT)¥2 - VIN,

(2)
(3)
4)

(5) Question not attempted

A convenient choice of unit cell for
the hexagonal Bravais lattice is a
the wusual

symbols for the sides and angles.
The restriction for this lattice is

parallelopiped with

(1)
(2)
(3)
4)
(5)

a=b=zc;y=120° a=p=90°
a=b=zc;y=60°a=p=90°
a=b=ca=120°

azb 2ca=p=y=90°
Question not attempted



92,

93.

94.

sdifegn wrefem e i fara WM g,
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(1) ofig
(3) wWETE
(5) FgaRa T

(2) HoiE
(4) FeEGI

Ffoem (A) : 7 Frrg & e o9
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(A) 51 B 3R (R) s 2 |

(A) IR IR (R) TR |
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(2)

(3)
(4)
(5)

TF e 19 F T A9 H aftEa afew
T St svifafes § feas wae
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wra s 19 s 2 |

(1) 3/2RT (2) 1/2RT
(3) 8/2kT (4) 1/2kT
(5) TG WA
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92.

93.

94,

The value of which of the following
partition functions is equal to g, ?

(1) potational (2) vibrational
(3) translational (4) electronic
(5) 'ﬁﬁestion not attempted

ﬂssariion (A) : In the phase
diagram of water system, the
slope (dP/dT) of the curve
between P and T for solid ice
and liguid water equilibrium is
negative.

Reason (R) : The molar volume of
liquid water is more than the
molar volume of ice.

Select the correct answer :

(1) Both (A) and (R) are true and

(R) is correct explanation of

@)

F-‘,‘!}h (A) and (R) are true, but

(R) is not correct explanation of

(A),

(A) is true, (R) is false.

(A) is false, (R) is true.

Question not attempted

(2)

(3)
4)
(6)

The average kinetic translational
energy. of one molecule of an ideal
gas isj;ﬁé‘ual to which of the following
exprﬂ;#;a;?iun ? Given that k is
Boltzmann constant and R is
universal gas constant.

(1) 3/2RT (2) 1U2RT

(3) 3/2kT (4) 1/2kT

(5) Question not attempted



95.

97.

98.

S AN 3 Bl 2 a9 vt et
# 39 aey a9 P aren € 9ng
TS TR R 7
(1) 0

(3) 1.0

(5) rgwiE v

HAF AEA 3R FEE D, ™ H, %
A FSTS W 1 Y @1 2 ?
(1) 93/2 2) ﬁ;f{_ﬁlﬂ

@ 2 (4)'=22

(5) gERETE o

L

FHEq AHIFEEEE (CO)FR T =0 KN
FafiE i g ?

(2) 0.5
(4) 2.0

(1) R (2 Rin(2)
3 2RIn(2 @ 05RIn(2)
(6) IeE W
L) .

uH G 7 A aﬂwmm T Ui
At gt & - Ty

1 1 -
(1) kT, 5kT T
@) %kT, kT A
(3) % kT, %kT
(4) kT, %k'r
(5) FwiE WA O

L)
99, Tl Y 3N ¢ AU F-FTYE HIEAIH

& N fa-wtta a2 6 pormat avft
-
O
N-E
(e P+ M)

(1) 0

_N
@) (1+ E’Bﬁ}

(5) HFGRE WA

4)

— i e E— T—— —— . e, .

b

95.

96.

97.

98.

99.

What is the relative populations of
the upper state in a two-level
system with respect to that of the
lower state at infinite temperature ?

(1) 0O (2) 0.5

(3) 1.0 (4) 2.0

(5) Question not attempted

What is the ratio of the

translational partition functions of
D, and H, at the same temperature

and volume ?

(1} 23!2 (2} 214‘2
(3 2 (4) 22
(5) Question not attempted

What is residual entropy of carbon
monoxide at T=0K?

(1) R (2) RiIn(2)

(3 2RIn(2) 4) 05RIn(2)
(5) Question not attempted

The mean translational and
rotational energies of a non-linear
molecule are

(1) FKT,3KkT
3
2 KT, KT

3 3
3 3 kT, 5 kT

(2)

)
kT, 3 kT

Question not attempted

(4)
(5)

The total energy of N two-level
system with non-degenerate states
with energy zero and ¢ is
N
(2)

(1 +eP)
& NE

® Trely @ o

(5) Question not attempted

(1) 0
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100. 15T # foFe wehm 1 agerhrm BT 2 7 | 100. Which type of polymerisation is

101.

102,

103.

54

(1)
(2)
(3)
4)
(5)

$ATE a1 widfeease % agedET
1 WU YN R wEeh B

(1) WHermse (2) g

(3) dietmesia  (4) wieEhes

(5) 3i{aia v

0 4 W sgehmm $ v ame
ST 47 Ftenfis fafy aEi 2 o

(1) = AEETHIA

(2) FHERA AESAhHIH

(3) 7 wEEhH

(4) HEYH TEAHH

(5) G W

w e s % e (o), | 108

TIHTE (tr), 90 (rot) 79T H94 (vib) |

fawrem werm & afwmo @1 sga gan =@
LR

(1)
(2)
(3)
(4)
(5)

el <vib < tr <rot
vib < rot < tr < el
tr < rot < vib <el
el <vib < rot < tr

FATAE W9

|
I
|
|
|
|
|

101.

102.

involved in Nylon ?

(1), Addition polymerisation

(2)y Condensation polymerisation
E'ﬁi'* Step polymerisation

{4} Block polymerisation

@) . Question not attempted

The first thermoplastic polymer
made by polymerisation of phenol
and formaldehyde is
(1) Bakelite

(2) Nylon

(8) Polystyrene
(-#}" Polyurethanes
@ Question not attempted
Wﬂ‘h one is NOT a general method
of Laboratory Industrial
Polymerisation ?

(1) Bulk Polymerisation

(2) Emulsion Polymerisation

(3) Liquid Polymerisation

(4) Suspension Polymerisation
(5) Question not attempted

or

The magnitudes of the electronic
(el); translational (tr), rotational
Ctﬁt) and vibrational (vib) partition
%l:l{:nona of a diatomic molecule in
correct ascending order are

(@) el<vib<tr<rot

(2) vib<rot<tr<el

(3) tr<rot<vib<el

(4) el<vib<rot<tr

(5) Question not attempted
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(1) wiwe, 1, fawfse g & g
oo, R I Far g | .
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HHIFT R

—d[M)/dt =k, [R] [M]
sl 3wy 2 = f, k) =
rfufsran & g Fafd, k, [R]
FTEH e

waTs = (~d[M]/dt)/k, [T].

FATRA T

(2)

(3)

(4)

I'"

% ary vew: fafa d g & ol M, iﬁr‘mﬁaﬁ

HIFAT 4.0 X 10~ mol~! & | SRy
AT 1.5 % 10 sHagFEr 2 L
(1) 61 2 71

(3) 81 (49 31

(5) el S

MM, s e e |

H1ETE 2 |

(1)

|i
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(3)

(4)

(5)
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104. Which of the following statements is

105.

106.

NOT true for
polymerization kinetics ?
(1) The initiator, I, dissociates to
generate a free radical, R.

The rate of disappearance of
monomer, M, is . given by

equation :

—d[M]J/dt = k, [R] [M]

The rate of initiation, k,[I]
rate of termination, k4 [R]
The kinetic chain length
(—d[M]}/dt)/k, [T].

Question not attempted

addition

(2)

(3)

(4)
(8)

A polymer is formed by stepwise —
process with k. = 1.0 L mol™! s

and initial concentration of
M, =4.0x 107 mol~!. Calculate the

degree of polymerization after time
1.5 x 104 s.

(1) 61 [ M i §

(8) 81 (4) 81

(5) Question not attempted

Which of the following statements is
WRONG ?

(1) The ratio M /M, is a measure of
polydispersity of the system.
Light scattering method is
used for the determination of
molecular weight.
Sedimentation method for
molecular weight determination
is a very fast process.

Osmotic measurement method
for molecular weight
determination is done in dilute
solutions.

Question not attempted

(2

(3)

(4

(5)
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(1) nudEsYH fFaaga s |
(2) O ETH 1% ae F9 w8 |
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uftet FenEs
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ufYe weAEs
Ay FRTES
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(1)
(2)
(3)
(4)
(5)

109. W wges o ot smmfE wEa-
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FTaTR?
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FHIEAH |
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(2)
(3)
(4)
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volume (f) and viscosity (n) of a

polymer is :

(1) n increases exponentially with
1/£.

1 decreases exponentially with
/£,

n decreases linearly with f,
1 increases linearly with f.
Question not attempted

(2)

(3)
(4)
(5)

. The monomer of PVC is

(1)
(2)
(3)
(4)
(5)

aryl chloride

vinyl chloride

ethyl chloride

methyl chloride
Question not attempted

Polymers having all asymmetric
carbon atoms with the same (d — or
—[) configuration are called ____.
(1) Atectic

(2) Isotactic

(3) Syndiotectic

(4) isochostic

(5) Question not attempted

Which of the factors lower the
crystalline melting point, T ?

(1) Lower the chain flexibility in
the polymeric backbone,
Introduction of the bulky
group in polymer.

Increase of side branching in a
polymer.

Presence of a polar group.
Question not attempted

(2)
(3)

(4)
(5)
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process in which the entropy of the

system

(1) increases

(2) decreases

(3) remains constant

(4) becomes zero

(5) Question not attempted

What is the best description of blood ?
(1) Sel (2) Foam

(3) Solution (4) Aerosol

(5) Question not attempted

While sodium dodecyl sulphate is
gradually added to water, the
surface tension of the water will

(1) initially increase sharply
afterward it becomes almost
constant.

decrease.

increase followed by decrease.
increase.

Question not attempted.

(2)
(3)
(4)
(5)
Change in temperature with respect
to pressure for adsorption process is
given by

t t
T\ {EJT

pP—

T
/ 4y ¥

p— P—
Question not attempted

(1)

pP—

—r

@ "

(5)

Which method is not used in the
measurement of surface area of
adsorbent ?

(1) Harkins and Jura Method

(2) B.E.T Method

(3) Benton and White Method

(4) Langmuir Method

(5) Question not attempted
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116.

117.

118.

Which among the following
statements 15 TRUE for
physisorption ?

(1) Physisorption is caused by van
der Waals' forces.

2)y It i1s highly specific in nature.

B) The enthalpy of adsorption is

) high.

@)y It is irreversible in nature.

@)) Question not attempted

fa‘l!iltify the FALSE statement
about BET isotherm.
(1) It is widely used to determine

the surface area of solids.
(2) BET isotherm is V/V =

mono
Z/{(1-7Z) 1«1 -c) Z]}
From the slope of the linear
plot of Z/[(1 — Z)V] against Z,
surface area is determined.
(4)) This isotherm is used only for
() monolayer adsorption.
(5)) Question not attempted

(3)
'y
e

#
F-1 3

gas per gram

=

Amount of adsorbed~

P — B

Above plot shows deviation from
Langmuir model. The significance
of this plot is

(1)) Formation of multilayer due to
‘L) physisorption.

(2)) Desorption of molecules from
7 the surface.

(8Y Condensation of the gas at
pressure even below the
saturation pressure.
Formation of multilayer due to
chemisorption.

Question not attempted

4)

(5)
o
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¢ | T I TETH ¢
|qrof - 1 aroft - 11
() (FIATEE THR) E?
a. W =H i, $He9H j’
b. AEA i, Aes®e
%2 : N
a b e
(1 e - (R R |
o) W (I R
@ # i i
(4) i i il
(5) ATNE 9H
o 1 3 11 3 gifern w12 oy
aroft - 1 aroft - 11
(reref) (e W)
a AT i FEIH HIAEE
b. e e il wEPl fEeEA
d. o e iv. Seah BT i
a b c d :JI
1) i i iv i V|
@& WM i dv #H i
(3 i S | | U I
€, v @ i i |
(5) e w |

119. Match Tables I and II and select the

120.

correct answer from the codes given

below :

Table - 1 Table - 11

(Material) (Colloid Type)
a. Gem stones 1. emulsion
b. Cloud ii. solid sol
c. Milk iii. aerosol
Codes:

a h ¢

(53 1 S IR T
(45 TG T B |
By 5
(4) i i il
(5) Question not attempted

Match Tables I and II and select the
correct answer from the codes given
below :

Table -1 Table - 11
(Material) (Solution Type)
a. latex i. multimolecular
rubber colloid
b. gold sol ii. homogeneous
solution
¢. soap iii. macromolecular
colloid
d. sugar iv. associated colloid
solution
Codes :
a B ‘& "da
(1) = W v A
(2) 1 1 v i
@ i iv i1 i
) b 1. Svieil
(5) Question not attempted
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121. [B,,H

122, Ffafea @ & ®9 51 dUAEe T 3H

123. Frafafee 9l & 8 S5 91 S0 - 792

124, 3a0-g=aE! @ wiatwanfed & sh @

121* [BgHgl @
TaATd e 2

(1) wrEl, fi2 v wE
(2) weiEr, U el
(8) wErEl, et ug HE
(4) T, e vd wE
(5) HwiE 9H

TTE B ?

(1) Lu®" 3R Gd*
(2) La®" 3t Pri*

(8) Cet* 3 Ce?*

(4) Sm2* 3 Ce**
(5) TG

T Eief e age a R ?
(1) SiCl, @
(3) (CH,),SiCl (4) SiO,

FANE 991

FAEE R ?

(1) CIF;> BrF; > IF, > BrF,
(2) BrF,;> CIF;>IF,>BrF;
(8) IF,> BrF; > CIF; > BrF;
(4) CIFg> BrFy> BrFy>IF;

(5) FgaiE wH

i [BH,,] #

(CH,),SiCl,

IEE.WWNWWWE

54

FHR?

(1) -2 (n-1)d""ns®
(2 (n-2)f"1(n-1)d"-?ns*
(3) (n-2)f"4(n-1)d°ns*
4) (n-2)f1 @ - 1)d*! ns?

(5) FFTNE T

— ——— ——

41

121.

122,

123.

124.

125

The structures of [B;,H,,1%, [B;Hgl
and [B;H,,] respectively are

(1)
(2)
(3)
(4)
(5)

closo, nido and arachno
closo, arachno and nido
closo, nido and nido

arachno, nido and closo
Question not attempted

Wiuth of the following lanthanide
jon" pairs are expected to be
cdiqﬂrleas ?

{1) ‘Lu®* and Gd3*

(2). La®" and Pr3t

(3) Ce?* and Ce?*

(4) Sm?2* and Ce**

(5) Question not attempted

Which of the following compounds
gives straight chain polymer on

hydrolysis ?

(sicl, (2) (CHy),8iCl,
{3} (CHa)aleE (4) SiO,

[5} .Question not attempted

Which order of reactivity is correct
for the interhalogens ?

(1) CIF,> BrFg>IF,> BrF,

(2) BrFy> CIF,>1F,> BrF,

(3) IF;>BrF;>CIF,> BrF,

(4) CIF;>BrF;> BrF, > IF;
{5:?':'_"’Questit}n not attempted

the correct general
electronic configuration of the
thanides ?
"{n 2)f1-14 (n — 1)d*-1% ns?
(n — 2)f*1* (n — 1)d'~2 ns?
(n — 2)f*-1 (n - 1)d? ns?
(n — 2)f1-14 (n — 1)d®! ns?
Question not attempted

{1)
(2)
(3)
(4)
(5)




126, Fr=ferfas et @ @ #5951 591-svmem

W EFaTfYe sefieaam amd 0
(1) CHgSiCl, (2) (CHy),SiCl,
(3) (CHy), SiCl (4) SiCl,

(5) e W

127, HL % A9 T Me,SiCl, & wegifefea
% gftomg 2
(1) % Me,Si(OH),
(2) %91 (Me,Si0),
() (Me,Si0), 3 = foei
(4) Me,Si(OH),, (Me,Si0),
=eh1a foerea =1 fagm
FANE WA

#HN

(5)

i
128. & 1, 2-3EFHMEI-FAEI-SreHEA(12)

® 450 °C W ™ few wmr R, @
TR ®9 & fhad Tu st a1
HRAE?
1 1
(3) 4

(5) STvRa 5w

129. Gd** 3R Eu®* & yraifirs gy sl
- # |
(1)

2

(3)

(2 2
(4) 5

7.91, 3.42 w9
5.91, 6.91 FH:
7.91, 6.91 ww:
(4) 0, 6.91 FwHw:

(6) arHRE W

130. FTgFEiIgIEHERS [PNCL,], % Hetew &
o smavaes wrfSe smea #
(1) P,0, 3 NH,
(2 PCI, 31"!'{NH3
(3) P,0, 3 NH,CI
(4) PCl, 3 NH,CI

(5) IrFvIiE ¥

W

o ®
{ 2 (4)

126. Which of the following compounds
gives hexamethyl disiloxane on

hydrolysis ?
(1) CHZSiCl; (2) (CH,), SiCl,
(3) (CHy); SiCl (4) SiCl,

(5) Question not attempted
Hydrolysis of Me,SiCl,

temperature results :

(1) Me,Si(OH), only

(2) (Me,Si0), only

(Me,Si0)_ and cyelic siloxane
A mixture of Me,Si(OH),,
(Me,Si0)_ and cyelic siloxane
Question not attempted

127, at room

(5)

How many new isomer/s can be
intramolecularly formed when
1, 2-dicarba-closo-dodecaborane(12)
heated at 450 °C ?

i i (2) 2
(3) 4 (4) 5
(5) Question not attempted

. The experimental magnetic
moment for Gd** and Eu?* are

(1) 7.91, 3.42 respectively
(2) 5.91, 6.91 respectively
(3) 7.91, 6.91 respectively
(4) 0, 6.91 respectively

(5) Question not attempted

. The starting precursors required for
the synthesis of  cyclotri-
phosphazene [PNCL,], are :

«* (1) P,0; and NH,
~’ (2) PCl,and NH,
"7 (3 P,0;and NH,CI
(4) PClyand NH,CI
(5) Question not attempted
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131.

132.

133.

1 34'

135.

Cp,TiCl, % Fraferfiga & & fra @y
sfufFrm 3 33 sfimds g 2 2

(1) LiAlH, (2) Na/Hg

(8) AlMe, (40 MeLi

(5) rgeE W

forferfan vt i & frw s #§ H,
SRR dm & durE Faifus 2 2
(1) [RhCI(PPhy),]

(2) [Fe(CO)

(3) [RhI,(CO),-

(4) [HFe(CO),)-

(5) el T

YhH & TSEEEeNE % fau fEe
I F1 I e ST g 7

(1) {302((}0]5 (2) [PdCId]E’
(3) I*Ii{C'lZJ:L1 (4) Pd(PPh3}4
(5) Irwia S

ﬁﬁnwmmmi
(1) FARA-TE, TH-EE
(2) -, s -
(3) FoHRIA-TIE, FoaRH-TE
(4) frs-wd, -
(5) HAgTG ¥

frafafan § @ fem 38 &1 I@W
ekl & FTEgrm & fog T fRn
IR ?

(1) RhCI(PPhy)q _

(2) [Rh(PPhy), CODJ*

(3) [Ix(COD)sRER) (PCys)]*

@) [I(CO),l -

(5) I S

131.

132.

133.

|

134.

135

|
|
|
|
|
|
|
|
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Reaction of Cp,TiCl, with which of
the following gives Tebbe's reagent ?
(1) LiAIH, (2) Na/Hg

(3) AlMe, (4) MeLi

(5) Question not attempted

Which compound is most likely to
undergo oxidative addition with H, ?
(1) [RhCI(PPhy),

(2) AFe(COY]

(3). [RhI,(CO),J"

(4}?_-:5{:1{1?.3({:0) i

(5)Question not attempted

Which catalyst is used for
hydroformylation of alkenes ?

(1) Co,(CO)s (2) [PdCl,]%-
(3) Ni(CO), (4) Pd(PPhy),

(5)" ‘Question not attempted

The Fischer and Schrock carbenes
am_@espectively

{1};-'-2_‘_ :Fla-::tmphilic. nucleophilic

(2) ‘nucleophilic, electrophilic

(3) electrophilic, electrophilic

(4) nucleophilic, nucleophilic

(5) Question not attempted

Which of the following catalyst is
not yused for hydrogenation of
a_]le_nea ?

(1?“"_-RhCE{PPh3}3
(2)[Rh(PPh,),CODJ*

(3) “[Ir(COD)(pyridine) (PCyy)]*

4) [Mr(CO),L,)

(5)

Question not attempted
(=]




136. F=fafigs wiefis forfe & smea 170
2

PPhy, PhPMe,, Ph,POMe, P(Cy),

(1) Ph,POMe > PPh, > PhPMe, >

P ':CF)H
(2) P(Cy); > PhPMe, > PPh, >
Ph,POMe
(3) PPh, > PhPMe, > PhyPOMe >
P(Cy), T
(4) P(Cy), }PhPMeszﬁ;PUMe::
PPh, o
(5) Frgeha W o
137. Frafefas ofere aagl (R) # @ s @
HEH &1 W 1 1-RM Het a4 ?
(1) -CH,
@ -C.H; Te
(3) —CH,C.H, ©
(4 -CH,C(CH,), —
(5) FwIiE ww &
<
138. ¥ Ru,C(CO),, FT FH: FHIT 791
arrpfa &
(1) er, IR fofs o
(2) w=IE!, ATHFHE de
(3) 2rd e, i amiwn ffis
(4) 2t i, 2t snewerhid
(5) FwiE W ‘o
139. fr=ferfiga 3 & frme v v 588 g
22
(1) PCI (2) PMe,
(3) P(OMe); (4) PF,
(5) A W

|
|
l
|
|
|
|
|
|
|
|
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136. The order of basicity of given

phosphine ligands is :
PPhy,PhPMe,, Ph,POMe, P(Cy),

(1) Ph,POMe > PPh, > PhPMe, >

P(Cy)q

P(Cy), > PhPMe, > PPh, >

Ph,POMe

PPhy > PhPMe, > Ph,POMe >

P(Cy),

P(Cy); > PhPMe, > Ph,POMe >

PPh,

Question not attempted

(2)
(3)
(4)

(5)

137. Which one of following alkyl groups
(R) will form least stable n!-RM

complex ?

(1) -CH,

(2 -C,H,

(3) —-CH,CgH,

(4) -CH,C(CH,),

(5) Question not attempted

138. The type and shape of the cluster

Ru,C(CO),; is respectively

(1) Nedo, Square pyramid

(2) Closo, Octahedron

(3) Capped Nido, Capped Square
pyramid

(4) Capped Closo, Capped
Octahedron

(5)

Question not attempted

139. Which one of the following have the
smallest cone angle ?

(1) PCiq (2) PMe,
(3) P(OMe), (4) PF,
(6) Question not attempted



A RSN

140.

141.

142,

- (2)

143.

ofe wefta e § ga € 5 ST
= HYh § S A1 R, A6 A Hl Iyt
T ] AT R ?
(1) p-TE-Tem
@) p-TEE-fem
(3) e FHireEH
(4)

(5) A W

FEEH-IPER a1 HEIH RS
TR B IufRa HTg A Ha: §

(1) Mg(D, Cudl)

(2) Zn(II), Mg(II)

(3)  Zn(1I), Cudl)

(4)  Zn(II), Zn(II)

(5) G 9H

- ATeaTes feaees 8 Smaat g
H1 HIH G A1 WIS Bl 8 ?

(1) Zn(IT) 3 NidII)
Cu(TI) 37 Zn(II)
Cu(Il) 3 Fe(I1I)
Ni(II) 3% Co(III)
FATNE 9

(3)
(4)
(5)

I
Freferfign arga & T a9E H 91g Foet

T ) BT G w8 7
(1) Fe,Co,Cu (2) Os,Ir, Pt
(3) Te, Ru,Rh (4) Zr, Nb, Mo

FATNE 5

Fe(IIT) 3 579 e ot S ot |

45

|
|
I
|
|
i

140.

141.

142,

If free heme in agqueous solution is
exposed to dioxygen, which stable
species is likely to form ?

(1)’4- ,k.r -oxo-dimer

{2} ‘p-peroxo-dimer

{Bf ‘f‘erryl complex

{4},_ -3-‘5. superoxo species with Fe(III)
(3)

Question not attempted

The metal ions present in
carboxypeptidase and carbonic
anhydrase enzymes are respectively
(1) Mg(II), Cu(II)
(2), ~Zn(I1), Mg(D
(3)Zn(II), Cu(II)
(4)*' }Eﬂ(ﬂ} Zn(II)

(E) ‘Question not attempted

Which combination of metals is
commonly present in superoxide
dismutase ?

(1) Zn(II) and Ni(II)

(2) Cu(Il) and Zn(II)

(3) Cu(Il) and Fe(III)

(4) Ni(II) and Co(III)

(5)s ~Question not attempted

=

)

Wﬁﬁ:ﬁ set of the following metals
haé}ieast chance to form metal
clusteérs ?

(1) Fe,Co,Cu (2) Os,Ir, Pt
(3) Te¢, Ru,Rh (4) Zr, Nb, Mo
(5) Question not attempted




144, Frefefea 3 | el gl &1 94

EréfthaTe o ofafda w0 fi amar 2 2
(1) T esiweET

(2) Hewier TaiE

(3) forr srfaefors

(4) TR
(5) e v |

145, gmieaeR @eE fam & an F ged

JIY HUA A |

(1) 379 % =1 H e I
(2
(3)
(4)
(5)

| AT H1 WA _
wEEi 3R 1
YR RWEAME

FE ¥

146. "SR E P-450 % &1 # f=fefga 4 &

FHEEAR?

(1) FEEA (VI) Hiae! Hiec=a g
fereftor st 2 |
FfeefteE g 2 |

Hhe W a1 el ot
wviaa: whFT s o d |
TH wRE e ifewe 309 BT 2
F AT T wE R |

(6) ST W

(2)

(3)

(4)

144. Which of the following has the

145.

146.

capability of converting a mono-
phenols in corresponding diphenols ?
(1)
(2)
(3)
(4)
(5)

Rieske dioxygenases
Catechol oxidase
Lipooxygenase
Tyrosinase

Question not attempted

Pick out the most suitable
statement about Supramolecular
chemistry.

(1) Chemistry about the molecule
(2) Chemistry of simple molecules
(3) Chemistry of covalent
interactions
Chemistry
molecule
Question not attempted

beyond the

(4)

(5)

Which of the following is true about
cytochrome P-450 ?

(1) A iron (VI) oxo complex is the

active oxygen species.

(2) Airon (IV) oxo and a porphyrin
cation radical system is the

active oxygen species.

(3) A ferric peroxo or hydroperoxo
species is likely the active

OXYgen species.

A hydroxyl radical is
generated and carries out the
mono-oxygenation.

(4)

(5) Question not attempted



147, saeifas § 3ufeyy tefFa 7 & |
(1) I= TH IgsHaHd Fe(l])a";

Fe(III)

2) F= =Fw FewasE  Fe(l)/
Fe(I1I)

(3) I= TEV FEFAHE Fe(mri
Fe(III)

(4) IEweEE Cud)/Cu(ll)

(5) FwiE W

A=
.-.,"I
t’ N
C ‘4
l. I:

148, FOTEA W&V o foTu gecrshia TTé &1 @@l

cuicll

(1) TR (2
(3) frdesm
(5) FgRA A

T3 5o
(4) TR

Ty

149, Wﬁwwﬁmg@m%ﬁs@

Hafoa & 2

(1) wEa A :*i
(2) weawafrR

(3) HHMEEE

(4) IFHEEIS 9

(5) I S

150. &=-3&ac! & TH 98, - maw%

ﬂn’gﬁaaﬁnﬁ#ﬁlﬁmaém
HeH H -0
gforfes frm s e 2 | i'
(1) @&, sfead e
(2) M, AIHEEHE

(3) Wew, FTHETE

(4) s, wfeedt

m%mrﬁj

(5) HgE W

47

147. The

148.

149.

150.

redox system present in

Rubredoxin is

(1) High spin tetrahedral
Fe(II)/Fe(1II)

(2) Low spin octahedral
Fe(II)/Fe(I1I)

(3) High spin octahedral
Fe(II)/Fe(1II)

(4) Octahedral Cu(I)/Cu(II)
(5) Question not attempted

Pick out the correct class of
macrocyelic receptor for anion
trapping.

(1) Spherands (2) Crown ether
(3) Cryptands (4) Anticrowns
(5) Question not attempted

Supramolecular chemistry is
primarily concerned with

(1) Covalent bonding

(2) Thermodynamics

(3) Atomic forces

(4) Non-covalent bonding
(5) Question not attempted

Self-assembly can be defined as the
and association of two

or more components to form a

larger, non-covalently bound

aggregate,

(1) Spontaneous, reversible

(2) Non-spontaneous, irreversible
(3) Spontaneous, irreversible

(4) Non-spontaneous, reversgible
(5) Question not attempted
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